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/s 190 560 350 | 1,550 460 280 | 3,020 | 1,100 .
Y, 280 610 430 | 1,580 550 330 | 3220 | 1330 Y,
1 470 830 680 | 2,520 680 480 | 3440 | 1,810 1
1/, 80 | 1270 | 1,150 | 3940 990 680 | 5060 | 2,580 1/,
1/: 1,050 | 1,690 | 1440 | 5060 | 1,140 860 | 5450 | 3,440 1/:
2 1540 | 2520 | 2230 | 5770 | 1550 | 1,310 | 6380 | 5120 2
2/: 3420 | 5060 | 5000 | 12760 | 2610 | 2730 | 11650 | 11,160 2/:
3 5000 | 7,280 | 7,390 | 17,600 | 3650 | 4,050 | 12,960 | 14,230 3
4 8510 | 12460 | 12,460 | 26430 | 7,900 | 6770 | 18920 | 28,020 4
5 22320 | 33350 | 31,600 12,340 | 35,710 5
6 30,860 | 50,600 | 47,920 16,960 | 41,820 6
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X5 X /X 880 | [1X7/: XX/ 3,370
35X /s XX /o 1/.X1X1X1 6,550
35X /s X X 1/:X1/:X1X1 6,550
X/ XX 1 950 | [2X1/iX1X1 7,640
/X5 X[ X1 1,890 | [2X1/:X1x1 7,640
X/ 1X°/: X'/ 950 | [2X2X1X1 7,640
/X5 11X/ X, 950 | [2X2X1/:X1/: 7,640
/X /s 400 610 540 50 | [1x/xa 950 | [2X2X1/:X1/: 7,640
1X/s IX1X1/: 1890 | [27/:X2X1X1 16,730
1X/s IX1X1/: 2,490 | [27/:X27/-X1X1 16,730
X/, 730 840 640 600 | [1X1X2 3,870 | [2/2X2/.X1/:X17s 16,730
1X°/s 730 840 640 600 | [1/:X/:X/s 1,890 | [2/:X27/2X2X2 16,730
1/:X%/s 1/X°) X 1,890 | [3X3X2X2 23,660
1/:X/s 1,670 1,890 1,080 1,200 | [1/:X1X/- 1,890
1/:X°/s 1,440 1,640 960 1,050 | [1/:X1X/ 1,800 | -ZDAEMZOMTF
1/:X1 1,440 1,640 960 1,050 | [1/:X1X1 1,890 F 14X i
1/:X'/: 1,980 2,490 1,440 1480 | [1/:X1X1/s 1,890 | [ SPTQ4 1/:X1]| 4,950
17X/, 1,980 2,490 1,440 1480 | [T/ X1X1/: 2,490 | [PU/i5F7aC SPTP4 1/:X1 | 4,950
1/.X1 1,730 2,090 1,260 1270 | [1/:X1X2 3870 | [~ AMNAL SPTQ6 2X1 | 6,960
1/.X17, 1,730 2,090 1,260 1270 | [T/ X1/:X1Y- 2,490 | [xJi%kaC SPTP6 2X1 | 6,960
2X'/s 3,220 3,870 1,980 2,010 | [1/:X1/:X2 3,870
2%/, 3,220 3,870 1,980 2,010 | [1/:X%/:X 2,490
X1 3,220 3,870 1,980 2,010 | [1/2X7/X1 2,490
2X 1/, 2,830 3,300 1,760 1,750 | [1/:X1X1 2,490
o2X1/. 2,830 3,300 1,760 1,750 | [T/2X1X17/e 2,490
22X/ 8,760 3,940 3,220 | [1/:X1X1/: 2,490
2/2X/, 8,710 8,760 3,940 3,220 | [1/:X1X2 3,870
2'/:X1 8,710 8,760 3,940 3220 | [1/:X1/:X/: 2,490
2 /:X17, 8,710 8,760 3,940 3220 | [1/:X1/:X/ 2,490
2/:X1/s 7,390 7,470 3,340 3,010 | [1/:X1/:X1 2,490
21/:X2 7,390 7,470 3,340 3,010 | [1/:X1/:X1/s 2,490
3XYs 11,650 12,050 5,880 4,870 | [1/X1/:X1/: 2,490
3%/ 11,650 12,050 5,880 4870 | [1/:X1/:X2 3,870
3X1 11,650 12,050 5,880 4870 | [1/X1/:X2 3,870
3X 17/ 11,650 12,050 5,880 4870 | [1/:X1/:X27: 8,760
3X1/. 11,650 12,050 5,880 4870 | [2X?/.x2 3,870
3X2 10,020 10,340 5,180 4,150 | [2X1X1 3,870
3X2'/, 10,020 10,340 5,180 4,150 | [2X1X1/. 3,870
4XYs 20,550 9,120 | [2X1X1/: 3,870
41X/, 20,550 9,620 9,120 | [2X1X2 3,870
4X1 20,550 9,620 9,120 | [2X17/:X1 3,870
4X17 20,550 9,620 9,120 | [2X1/:X17 3,870
X1/, 20,150 20,550 9,620 9,120 | [2X1/:X1/- 3,870
4X2 20,150 20,550 9,620 9,120 | [2X1/:X2 3,870
4X2'/, 17,520 17,710 8,600 8,000 | [2X1/:X2/- 3,760
4X3 17,520 17,710 8,600 8,000 | [2X1/:X"/- 3,870
5%/, 53,440 2X1/:X/s 3,870
5%/ 53,440 2X1/:X1 3,870
5X1 53,440 2X1'/:X1/ 3,870
5X1/ 53,440 2X1/:X1/- 3,870
5X1/ 53,440 2X1'/2X2 3,870
5X2 53,440 19,310 2X1/:X2'/ 8,760
5X2'/ 53,440 19,310 2X2X 2/, 8,760
5%X3 41,400 45,500 16,740 2X2X3 12,050
54 41,400 45,500 16,740 2/:X1/:X1'/s 8,760
6X1 79,460 2/:X1/:X2 8,760
6X1/ 79,460 21/,X1/:X2/ 8,760
6X1/ 79,460 26,590 21/:X2X1 8,760
6X2 79,460 26,590 21/,X2X1/ 8,760
6X2'/ 79,460 26,590 2/:X2X1/, 8,760
6X3 79,460 26,590 21/,X2X2 3,760
64 68,570 22,930 2'/:X2X 2/ 8,760
65 68,570 22,930 21/:X2/:X3 12,050 GHLE 1)
3X2X2 12,050
3X2X3 12,050
3X2'/:X2 12,050
3X2/:X2'/ 12,050
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